
Math 4. Classwork # 13. 

 

1. Review of the Quiz 

 

 
2. Review of Homework #11 

 

 

 

Review: 

 

Solve the following equation: 

1

3
𝑥 + 12 = 𝑥                                                                                    6𝑥 − 14 = −5𝑥 − 3 

 

−(𝑎 + 4) − 19 = 7                                                                           2
1

3
− (𝑦 −

5

12
) = 1

3

4
 

 

 

 

Using the distributive property rewrite the following expressions without parenthesis: 
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Simplify the following expressions: 

 

𝑚 − (𝑛 + 𝑚) = 

−(𝑛 − 𝑥) − 𝑥 = 

𝑝 + (−𝑚 + 𝑘 − 𝑝) = 

−𝑎 − (𝑚 − 𝑎 + 𝑝) = 

 


